TR LEkeAdS i es
123 631 AD .

1 OFD FTWwWIAE LT L),

(i 4 + b

2> 3 + 38

s 6+ 0O

2 S5FD TwXA%E LTIl s

1y /] — D

2> 13—

) 4 — 4

XOFD N=VIZE, $ALAEVWY ) ETF,




3 SOFD FTwIXAE LTl roo,

(i /+ 3+ 5

2> 10— 6 + 2

16— 6 + 8

A 550 HFuxiz LELss,

(i 3+ 2

() 29— 4

s> 100 — 30

i




TRy LEkeAdsS i es
123 631 AD LY Limnrd (2£2)

1| 550 uxiz LEL:s,

4 +5=9

2 8+ 8 =16 5“2?2&@?@1&10

00000 00000 00000 (@ 8¢ 2% fzLT 10T,
00 000 00000 B 10L& 6% LT 161 HYFET,
00000
o
2 6+ 0 =6
00000 00000
[ L

P20 550 FuxAs LELss,

() — 2 =Db

—_ <[HFWsAD Lhiviz>
2 13— 7/ = é D 13% 10& 3I= bHFET,
00000 | 000 0000 |[© 10> 7% VLT 3TY.
00000 || 00000 || @ @ 3& 3% f=LT 612 KYFET,
PSS o0
(YY)

) 4 — 4 = (O

0000 —-0000

SOFD N=UIZE, EAFEVY HYFT,

— 1 -



3 SOFD FTwIXAE LTl roo,

'/ + 3+ 5 =15

- TWEA Lhvt=
2 10— 6 + 2 = 6 <155 aiin
TWEALET,

® 10_6[i 4—6‘?-0
@ 4+21%x 6TY,

16— 6+ 3 =138

Rl [

<IFWESAD LHiviz>

Fahn LAl FOWSALET,
@ 16—6(x 10T,

@ 10+8I% 18TY9,

Al 550 Fuxiz LELso,

(i 34+ 2 =37

<IHWEAD >

D 3% 30& 5IC hIFET,

@ 30/ ZOFEFET. 5+20 HLWEAE LET,
5+2(F 7T9,

® 30& 7% LT 37z HYFET,

() 29— 4 =25

= 100 —=30=70



TSI TIRREAYY LFsATD K125

1 SOFD FTWI A% LE L.

(1) 3+ 7/

(2> 8 + 3

(3) 9 + 4

(4) 8 + 7/

(50 10— 6

(6) 16— 9

7y 15— 7

(8) 14 — 8

OFD N=VIZF, FAFEVY S FET,



2 S2FD (FTWwIAL%E LELx I,

(1) 40 +50

2> 8 + 60

(3) 62 + 3

(4) Q0 =60

(50 56— 4

(6) 89 — Q

(7 2+ 5 4+ 1

8) 12 —2—3

() 18—-—6+ H

i 13+ 6—8




Bob0EdFHVYYTAD INEREAT S FEWN1EF

133%HIEAD LY & omnhnwrr (Z7F-2)
1| =50 Guxiz LELrs,
() 3 4+ 7 = 10
(YY) 00000 00000
(Y ) 00000 . .
_ <HFOEAD Lh>
(2) 8 3 — 1 1 @D 3% 2¢& 112 bIFFET,
00000 000 00000 @ 8& 2% f-LT 10TY,
000 00000 (@ 10& 1% LT 1z HYZFET,
o
s 9 + 4 = 13
00000 0000 00000
CYY Y ) 00000
000
4> 8 4+ 7 = 15
00000 o0000 00000
(YY) (Y ) 00000
00000
s) 10 — 6 = 4
o0000 | 0000 0000
00000 |—~00000
o)
. <HFOEAD Lh>
6y 16 — Q@ = 7/ D 16% 10& 61z bhitEd,
eeo0e O 00000 | (@ 05> 9% VLT 1T,
00000 |~00000 PP @ 1& 6% LT 712 "BYFET,
e0000 0000
° 00000
°
(7> 15 — 77 = 8
00000 000 00000
00000 —00000 (YY)
P YYY Y 00
00000
8y 14 3 = 6
00000 oo 00000
00000 | 00000 ®
Yy 000
o000
SOFD N=VIZF AV H)F T,




2 S2FD (FTWwIAL%E LELx I,

(O 40 +50=90

2) 8 +60=68

<IFTWSAD Lhvi=>
3y H2+3 =65 @ 62% 60& 2I= bIFET,
@ 60lF ZDFEFET. 2430 TL\EAE LET,
243[% 5TY,
® 60& 5% f-LT 65Ic HYFET,

(4> 90 =60 =30

(5) 56 —4 =52

(6) 89 — 9 =80

(70 2+ 5+ 1 =8

D 12—-21F 10TY.
® 10—-38l%x 7T9,

gy 12 —2—3=17 ﬁ<;;§g®um§z(: &4 LET,

@ 18—6I1%x 127TY,
@ 12+5[F 177T9,

(9 18 —6+ b=1 7ﬁ<§%‘§/§®c5?§§z(: FLEALET,

w13+ 6—-—8=11



